EAGRAROBREERT — 2 N— IBISH —F

2021558270 (k) 4EIFI5I3H

REe XY (w8 | 1mEmml - |5 5) w8
[xE£] 1 %:300,000 3  2%:84,000 ™  37%&:63,000M  43&:42,000H  53#&:21,000H
B % B REBB MK HE BF (F8) 4L (&%) | EBIEG | EOF |SIEH | AR | #HE | NG FIR) / BE / £EHS
1 3| TLsr—KU—54 # 3 ?i%#a 1:(1_5).9 1-1 89| — | 1 (432) iﬁégi (ki)
QNS IAF Ay IIA YT — BiAT7HIvII0 =R/ 45
2 4| FLFTXE-Z 43 gé?gﬁ% 1:(156).9 2-2 9.8 — 5 tg? /ng)%*éigﬁg)
Lia=/¥Lby b BiL—XFTRE-X HEABS
3 6| FFXEFNNT # 3 g’éfgmﬂ 1:(117>.1 32 397 — | 2 3_642) gggﬁ (i)
K:ErTRYY BTA/TVF Tr—3 % %4
4l7l7|7N=FN 6 & || RS 1:(117).3 54 396 — | 3 (514) %\%Eg (ltimis)
Vv Rayr4 B:F K- () HAEa-KRL—Ya>AET7
515|577 b it 3 ﬁﬁ%: 1:(117).5 7-7 9.4 — 7 ;1&4) 2;?1;‘; (AtimE)
LA -2 v TI— B:OvI<AN—hk A BE
6|1]1|MTET % 3 | BRI 17”5? 44 [30.9] — | 4 (45;6) giiﬁfﬁ ()
RN v HF = B:5TAVLE— s IE—
LK —0O— 4 3 | BREA 1:18.2 6-6 40.3| — 6 460 | 1EEEZEER (dbimsE)
@ 11— F—EBIRML
1T=7r=
23—7—
d=zr= 3,4,6,1,7,2,5
AT =7F= 3,(4,6),(1,7),2,5
[ BN
B OB 3 200M 794K 3-4 400MH 5= 3-4 1,280M &8 3-4-6 920M
7B 3 170M 3-6 150 BHE 3-4 1,910 JEH 3-4-6 4,580M
4 420 4-6 390MH

ARICOVWTRDTEEERROODE. TR LIV,




